LO: Divide 2 Digit by 1 Digit
Practice

Ron uses place value counters to divide 42 into three equal groups.

He shares the tens first
80 gogggg] and exchanges the

remaining ten for ones.
{O QOJ [O 001 [O oo} Then he shares

the ones.
00 00 00

42 +3=14
Use Ron’s method to calculate 48 + 3,52 +~ 4and 92 + 8

Annie uses a similar method to divide 42 by 3 @
| ‘ | 1 I 1A 1 I 1 I
Q_ 0000

Use Annie’s method to calculate:

9% +8 9% +- 4 9% +3 96+6

- Problem Solving.

Amir partitioned a number to help him
Compare the statements using <, > or = divide by 8

Some of his working out has been
covered with paint.

48 - 4 O 36 B 3 What number could Amir have started

with?




